)

76 B 98 | 93 | 83 | 65 | 30 73
77 C 89 | 73 | 56 | 41 | 24 57
783 B 97 | 91 | 80 | 61 28 71
79 B 81 | 66 | 54 | 44 | 28 55
80 B 70 | B2 | 38 | 26 14 40
81 I 90 | 71 55 | 42 | 21 56
82 B 96 | 88 | 77 | 61 | 27 69
83 B 90| 76 | 63 | 48 | 27 61
84 C 91 80 | 64 | 41 14 58
85 B 76 | 53 | 38 | 28 | 18 43
86 C 86 | 71 | B8 | 43 | 18 55
87 D 84 | B5 | 35 | 21 11 42
88 C 96 | 84 | 65 | 45 | 21 62
89 B 67 | 40 | 23 | 16 | 10 32
90 A 67 | 37 | 20 | 11 10 30
91 C 92 | 81 | 68 | 52 | 27 64
92 B 58 | 45 | 43 | 41 36 45

Part B—With Graphing Calculator (Average number correct = 9.1)

Question # 761 771 781 79| 80| 81| 82| 83| 84| 85 86 | .87 881 891 90| 91 | 92

Correct/Incorrect ) '

Percent of Students

Answering Correctly | 73| 57| 71| 55 40| 56| 69| 61| 58| 43| 55| 42| 62 321 30| 64| 45
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